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CRIMINOLOGY
PAPER —1I

Note : This paper contains fifty (50) multiple-choice questions, each question carrying

two (2) marks. Attempt all of them.

Hawala transactions are carried out through :
(A) Cheque (B) Demand draft

(C) Promisory note (D) Without any official record

Mens rea refers to :
(A) Expost facto (B) Motive

(C) Liability (D) Criminal Intent

Crimes which are inherently wrong are otherwise known as :
(A) Mala Prohibita (B) Mala In Se

(C) Perjury (D) Juvenile Crime

Santhanam Committee Report is concerned with :
(A) Terrorism (B) Corruption

(C) Caste Conflict (D) Insurgency

Who among the following belongs to Cartographic school of Criminology ?
(A) Guerry and Quetlet (B) Cloward and Ohlin

(C) Sutherland and Cressey (D) Paul and Young

Scientific study of Criminology was initiated by :
(A) Beccaria (B) Berthom

(C) Lombrosso (D) Voltaire
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7.  Labelling theory was propounded by :
(A) Garofalo (B) Baker

(C) Sutherland (D) Teeters

8.  Match the item in List-I with List-II regarding the propounders and the theories :

List-1 List-11I
(a) Robert Merton (i) Labelling
(b)  Emile Durkheim (ii) Suicide
(c) Sigmund Freud (iii) Strain
(d) Baker (iv) Psychoanalysis
Code :

@@ () (o (d)
(A) () @) @) @)
B) @) @O G @)
© O G G@ )
(D) @) @) @ @)

9.  Which one of the following pairs is correctly matched ?

(A) Von Hentig The Criminal and his victim

(B) Benthem - Victimology
(C) Drapkin Israel - Punishment
(D) Emilio Viano - Compensation

10. ‘Criminal Sociology” was authored by :
(A) Ferri (B) Garofolo

(C) Beccaria (D) Cohen
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11. Match the item in List-I with List-II regarding the propounders and the theories :

List-I List-II
(a) Control theory (i) Lombrosso
(b) Culture Conflict theory (i) Eysenck
(c) Theory of personality (i) Sellin
(d) Positive School (iv) Hirschi
Code :

@@ () (o (d)
(A) @) (v) @) @
(B) (v) (D) @) @

12. To determine the insanity claim and fix the criminal responsibility, which among the
following is used ?

(A) Eysenck’s Personality Test
(B) M’ naghten Rule
(C) Minnesota Multiple Personality Test

(D) Preconventional reasoning test

13. The word “White Collar Crime” was coined by :
(A) Sheldon Glueck (B) Sutherland

(C) Hooten (D) Ferri

14. The most crucial factor in Labelling Theory is :
(A) Individual reaction (B) Victim reaction

(C) Social reaction (D) Family reaction

J—6805 6
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15.

16.

17.

18.

19.

20.

Who among the following has linked personality with crime ?

(A) Eysenck (B) Sutherland

(C) Charles Cooley (D) Walter Miller

Assertion (A) Criminologists frequently disagree with one another.

Reason (R) : It is multidisciplinary in character rather than being dominated

by one discipline.
(A) Both (A) and (R) are true
(B) (A) and (R) are false
(C) (A)is true (R) is false

(D) (A) is false (R) is true

Dark figures of crime are brought to light through :
(A) Police records (B) Court records

(C) Victim survey (D) Prison record

Interview schedule is used by :
(A) Investigator (B) Respondant

(C) Programmer (D) Statistician

The type of research that provides immediate solution to problems is known as :
(A) Descriptive research (B) Action research

(C) Applied research (D) Evaluative research

Crime rate in India is calculated by number of crimes reported and divided by :
(A) 100 (B) 1000

(C) 10,000 (D) 1,00,000
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21.

22.

23.

24.

25.

26.

Body type theory in Criminology was developed by :
(A) Earnest Krechmer (B) Earnest Hooten

(C) Raffel Garofolo (D) Enrico Ferri

Concept of social disorganisation originated from :
(A) London School of Economics
(B) Chicago School of Sociology
(C) Jawaharlal Nehru School of Social Medicine
(

D) National Law School, Bangalore

The example of Victimless crime :
(A) Theft (B) Fraud
(C) Robbery (D) Suicide

Domestic Violence includes :

(A) Crime against wife (B) Crime against children

(C) Crime against elderly (D) All the above

Withdrawl symptom is associated with :

(A) Child abuse (B) Drug addiction

(C) Commercial sex (D) Domestic violence

The age of Juvenile as per Juvenile Justice (Care and Protection of Children) Act 2000 is

(A) 16 years for Boys and 18 years for girls
(B) 18 years for both Boys and Girls

(C) 20 years for both Boys and Girls
(

D) 17 years for both Boys and Girls
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21.

22.

23.

24.

25.

26.
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27.

28.

29.

30.

31.

32.

33.

Who is the author of the book “The Individual Delinquent” ?
(A) Travis Hirschi (B) H.L.A. Hart
(C) George Homans (D) William Healy

Truancy means :
(A) Running away from home (B) Running away from school

(C) Playing with friends (D) Gambling with peers

U.N. Standard minimum rules for Juvenile Justice were framed in :
(A) California (B) New Delhi
(C) Rome (D) Beijing

Among the following under which law provision for death sentence is there :
A) Juvenile Justice (Care and Protection) Act of children

B Consumer Protection Act

~—~

(
(
(C) Dowry Prohibition Act
(

D) Narcotic Drugs and Psychotropic Substances Act

The objective of After Care Programme is :
(A) Retribution (B) Incapacitation

(C) Just Desert (D) Reintegration

According to Law, Capital punishment is given :
(A) In all cases (B) In rare cases

(C) In rare of the rarest cases (D) In none of the cases

Indeterminate sentence is awarded according to :
(A) Indian Penal Code (B) Criminal Procedure Code
(C) Evidence Act (D) None of the above

J—6805 12



27.

28.

29.

30.

31.

32.

33.
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34.

35.

36.

37.

38.

39.

Inmates convicted with rigorous imprisonment are required to put :
(A) Hard labour (B) Simple labour
(C) No labour (D) Occasional labour

Presently, most of the prisons are facing problems of :
(A) Convicted Prisoners B)  Drug peddlers
(C©) Over crowding (D) None of the above

After serving a part of sentence in a correctional institution, release of a person is called

(A) Probation (B) Parole

(C) Bail (D) Incarceration

After-care services are provided in the following Law :

(A) Immoral Traffic (Prevention) Act

(B) Juvenile Justice (Care and Protection of Children) Act
(C) Narcotic Drugs and Psychotropic substances Act

(D) Indian Penal Code

Indian Penal Code was enacted in the year :

(A) 1861 (B) 1871

(©) 1923 (D) 1937

Assertion (A) Anti social conduct is not criminal until it has specifically been
prescribed.

Reason (R) : An act must be legally forbidden to be identified as a crime.

(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

J—6805 14



34.

35.

36.

37.

38.

39.

AW HREM & dfal Sl HT TS € :

(A) IR g9 (B) WM 9H

(C) = 99 &l (D) et et 5|

A H AR FRAN H e gHEn T

(A) dfed ol (B) IS TerHl i TR
(C) e (D) TS H B &

GUR TE H IS 1 Tk 9T foam o qvem Safs at Rel o #ed ©

(A) Tdefta (B) W
(C) SMMa (D) SR
IR G0 il 1 yreae e A H R

A) THRA <freh (Trea=m) TR

(
(B) Sfareel SIEH (I TOE YoM A(h faeed) T
(
(

C) FIRGhITH TSl UUS AU HeHosl o

D) WRdF gUe Hfgdl

AR S0 Hfgdl 39 o4 § o1 ¢

(A) 1861 (B) 1871

(C) 1923 (D) 1937

HAT (A) :  STHIHIISIR SATERU TUNY E € 59 o o 39 fau w4 ¥ 3@
T fRa T R

®WROT(R) :  $iE off & 3Ty & &Y § ST ¢ 39 fod emavass ¥ T g
I R 2

A) <HT(A) 991 (R) T& €
B) <M (A) @ (R) Teid &
Q) (A) T ® fohg (R) Tomd ©

(
(
(
(D) (A) TTerd B fohg (R) W@ @

J—6805 15 P.T.O.



40.

41.

42.

Assertion (A)

Reason (R)

Critical criminology does not seek to explore the ways in which
the variables of class, race and gender are played out in the
criminal justice system.

It reflects a concern with ideas which underpin discriminatory
practices and consequently contribute to their perpetuation.

(A)  Both (A) and (R) are true

(B) (A) and (R) are false

© (A) is true (R) is false

(D)  (A) is false (R) is true

Assertion (A):

Reason (R)

The economic and industrial growth throughout the world are
the main cause for the increase in white collar crimes.

The changing socio economic structure of the society coupled
with increase in wealth and prosperity has furnished
opportunities for the occurrence of white collar crimes.

(A) Both (A) and (R) are true

(B) Both (A) and (R) are false

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A)

Reason (R)

Non reporting behaviour among women about the incidence of
crime paves the way for increasing crime against women.

Women fear for getting stigmatised by the society which prevents
them from reporting the incidence of crime.

(A) Both (A) and (R) are true

(B) Both (A) and (R) are false

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

J—6805

16



40. ®YT (A) :  GHCHEHACHS STV STINTEh == Julelt | o, gifa qen foi
St uftfearfaat st JffeR it @ e B 7

HOT(R) : I A [I9R & Qe 191 e wfafsifed shan € S geraragor gemsif
T THLT I § T TR0 IR TR H ANEH i € |

(A) T (A) 79 (R) T &
(B) T (A) d (R) Terd &
(C) (A) T T T (R) ToTd &
(D) (A) TTeld & @9l (R) T&l ©

41. ®HIT(A) : G g A onfiiew ud sienfies fasr & vodaw STuuHl it S
T TG HR & |
HIOT(R) :  GHN ol SCordl o7 Tk 31 sTfefeh e qen Sus oy gwfd
s Tqfg ® gfg % wRo1 vadqedq STqus % Hfed 2 % STaEt Scgel
LI

(A) (A) T (R) Sl T &
(B) (A) T (R) I TTewd §
(©) (A) T € g (R) T &
(D) (A) e & fobeg (R) W& &

42. HIT (A) :  Hieonsil & T6g T T w1 Th HRU T ot ¥ o wfgand srquy
i T RIS Tl et €
HRUT(R) :  Hfecnsil ol S ¢ o T § 39 R A o STE 36 HRor d J
TR T TR i R T it €

(A) T (A) T (R) T &

(B) THI (A) TN (R) Tod &
(C) (A) W@l & fhg (R) ToTa ©
(D) (A) T & foreg (R) W& @

J—6805 17 P.T.O.



43.

44.

45.

Assertion (A) : Incapacitation is the custodial control of convicted offenders so
that they cannot commit crimes.

Reason (R) : Incapacitation is based on the idea that offenders will not commit
crimes after certain numbers if they remain in society.

(A) (A) and (R) are true
(B) (A) and (R) are false
(C) (A) is true (R) is false

(D) (A) is false (R) is true

Assertion (A) : Until recently females were seldom studied either as offenders
or as victims in India.

Reason (R) : Women offenders have constituted a much smaller percentage
of total offenders.

(A) Both (A) and (R) are true
(B) (A) and (R) are false
(C) (A)is true (R) is false

(D) (A) is false (R) is true

Assertion (A) A warrant is issued by the police authorising officials to arrest a
person.
Reason (R) : The police are entrusted with the right to protect the citizens.

(A) Both (A) and (R) are true
(B) (A) and (R) are false
(C) (A)is true (R) is false

(D) (A) is false (R) is true
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46.

47.

48.

Read the following passage and answer the question no. 46-50 :

The process of economic development has affected the amount and characteristics
of crime in both capitalist and socialist societies. In general, high proportions of all of
the crimes committed in economically developed socities are property crimes, because
with propensity there are many opportunities to steal. In less developed societies,
property crimes usually make up a smallar proportion of all crimes and violent crimes
are relatively more common. The overall crime rate tends to rise with economic
modernization, but some of that increase seems to be due to the development of a
professional police force that keeps better records. With economic development also
comes an increase in the relative amount of crime by juveniles and by woman. In
developing societies women rarely commit more than one-tenth of all crimes, but in
economically advanced societies they are responsible for as much as one-sixth of all
crimes.

According to the above :

(A) Crime is more in socialistic societies

(B) Crime is more in Capitalistic societies

(C) Crime is more in socialistic societies and not in capitalistic societies

(D) Crime is more both in socialistic and capitalistic societies

Economically developed societies have :
(A) More property crimes

(B) More violent crimes

(C) Less property crimes

(D) More sex crimes

In less developed societies property crimes are in smaller proportion in compare to
other crimes because :

(A) Opportunities are less
(B) Opportunities are more
(C) Poverty is more

(D) None of the above
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FEfeRad SevuT @1 Ugeh 997 &T 46-50 & ITT giTd |

aTIfefer farenra st wfshan & woTSrendt o YSianet TSt § ST st He 9 yahfa geferd
T T IEaEn, oY w1 9 fowfaa wursi #, Sfeq Squi st § weafa 9§ wwatea
ST ! HEA iy et € Hifeh faehrd & Wy-|rel =l o o b STIER 3UeTed Wd ¢ |
%Y foshfad Tumsi § Fot 2Tl i e § gt § gt Ty 8 4 H e €, 99
feTeTeR SToUy 39 o # S Hed B ¥ 1 oTfefen smyferier ¥ ety X H gfg At ®
T $ER1 S Yee] e off ¢ TR et g siea STy fere Ter 9 o9 it U H g 3
Bt T enfeier foshra o Ty afgensii qen are STt & gry foRd T ool H off gfg
B ¥ 1 Taepraiicl garsil § Afear sTaus S Hot Y@ 1 SHaT YN Y SA1eT ST TE it
¥ ifere smftfer & 9§ forerfaa wmmSt § a1 9wl st Hea o1 wea fewm vfeansii g fovd ™
3T BN T |

46.  SUH STIER :
(A) OIS HETS H SO SATe fed B §
(B)  YsTardt Tl | Tuy STl Hfed B ¥
(C)  TUY HHISETE! THIST § YSaret TS shi STHe7 a1 *fed 2 &
(D) < THISETET 9 YSarst Farsi § S9rer ST Hfed 2 §

47. o7 &9 faenfaa wmmsi § 20 €
(A) <€ Hufd § Frelf-<d sT9uy
(B) e fede Ty
(C) H FHfd § graf-od 3Ty

(D) ST I Tt STa

48. ou faefad Taml § gE STUUHl ot ol H Tt St STaUe el "fed 21 ¥, i
(A) TR FH T ¥
(B) TR ST B &
(C) TS T §
(D) 3T § HIE T
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49. According to the above statement :
Women are more responsible for crime :
(A) In developing societies
(B) In advanced societies
(C) Both in developed and advanced societies

(D) In underdeveloped societies

50. The main theme of the paragraph is that there is strong relationship between :
(A) Crime and modernization
(B) Crime and women’s development
(C) Better recording of crime by police

(D) Unemployment and crime

-00o0-
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49. 3% FHUT % ER Ak Afgad ol H For et €
(A)  Towraeia garsi 9
(B) faekfya wmmi |
(C) forrrefia qen forerfaa AT womstl &
(D) ¥ fasfaa waei o

50. 3% ST 1 A for B TR e o ofte wetem wer ©
(A) YUY TH SYfThIh
(B) T9UY Te Hfgensdi &l foshE
(C) IfeTH BRI STUUE 1 Jek €9 | TS Bl
(D) SUSAT TS 3790y
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